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1 Reading Comprehension [35 marks]

A. Read the passage on pp. 3-4 and answer questions 1-5 in Arabic in your own words [15

marks]
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B. Vowel the nine overlined words/expressions fully and explain both word endings and

internal structure where relevant. [9 marks]
C. Give a translation of the twelve asterisked words as used in the passage. [6 marks]

D. Find a word/phrase in the text that has the same or similar meaning to the following: [5

marks]
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Question 1 continues on the next page.
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Al-Arabi, pp. 23-25, no. 581 April 2007 (adapted)
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2 Summarise the following passage in English in no more than 150 words. [25 marks]
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.Question 2 continues on the next page
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Source: http://www.sudanile.com/index.php?

option=com_content&view=article&id=8281:2009-12-08-11-59-58 &catid=257:2009-09-14-00-17-27&Itemid=
74. (adapted).

3 Write an essay of at least 350 words in Arabic on one of the following: [40 marks]
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END OF PAPER
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